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There are other ways to solve
Systems of Equations!
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Elimination is when you "eliminate" one of the variables.

Q



Eliminati :
y-2x=5 ® ion by Addition

responding

variables,

y ’ X = 4 @ Make sure the cof
constants and equal signs are lined up.

Don’t
FORGET!

D@




Elimination by Addition

Consider the system

X-2y=95
5x+2y=7




Elimination by Addition

Consider the system

\x2y\=5®——— Lets add both equations
+ 2x =7@ to each other

YO ¥y ()

X=Y
Sub i )




Elimination by Addition

x+3y=14 @ Who would you eliminate??

X +4y =7 @

0D Fy=al

) ﬁfg (5.2)
Sb ; _

"0 it?s)qu.

X $~9

X=5




Elimination by Addition

xy 3y =14
\-X|+4y =7



Elimination By Subtraction
6x + 11y =-50

% =2
_-| (l __D

3&)\4@ BX-I- (y=-5
oX+ \\(a'l) =-S5
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-3x -5y =10 (0
+3X47y =-14 @ Add +he Qp
G)'l'@ %‘.‘— —_".".'.
A
—_ b" ~A (0 |’Q>
Sub in@

T 3X-5y.=10
3%-5C) <10
3N HOF10-10

=00
R YO
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Solve '
the following System of Equations

x +2v -7 B

Make sure the corresponding variables,

C/
- ZX + 8y - 10 @
constants and equal signs aré lined up-

Qe roCat

X
%I = il— You must explain what you are doing.

(
S i -3
'n® 4\a\
X$3y=3 G, 2)
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Solve the following System of Equations

ariables,

—5x —9y ) 27 @ ake sure the corresponding v !

wonstan1s 4 equal signs are ined P
— %"‘ FORCET)
@X?) ‘QX -l-ﬂ = —94 @ \\@
) = 93 CD#‘ @
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Solve '
the following System of Equations

he cor‘respor\ding variables,

Make sure T

2x+3y=13 (@)
constants and equal signs are

Qe roLat

02 X """l'y =¥ @’ <
®x3 —eX-Iy="31® \\"‘?@

% _—_Lss You must explain what you are doing.
y -

——_

Sy i
n @ %’é*giz ;‘:rs —
KX 3?—1 <Q\3>
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Try these:

3x +3y =-6
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X-2y\=95 Lets add both equations
+ 2x =7 to each other
3x =12
solve for x

ANS: (4, y)
x=4

Now solve fory (HOW???)
- sub the value of x into one of the equations and solve for y

X-2y=35
4-2y=95
-2y =1
y=-1

2

intersection point (4, - 0.5)
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y=-1
solve for x
6x + 11y =-5
6x + 11(-1)=-5
6x -11=-5
6x =-5+ 11
6X =6
x=1

Careful you are subtraction all of the second
(switch all signs on t second equation)

Intersection (1, -1)
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Consider the system

3x + 6y =18 Now subtract the equations
-3x - 3y = +6
3y =24
y=238

Sub into equation 1 (original) or the above

X+2y=6
Xx+2(8)=6
X+16 =6
X =6-16
x =-10

(-10, 6)

19






	Page 1: May 19-10:32 PM
	Page 2: May 21-12:06 PM
	Page 3: May 21-12:41 PM
	Page 4: May 21-12:53 PM
	Page 5: May 21-1:12 PM
	Page 6: May 19-9:50 PM
	Page 7: May 19-9:50 PM
	Page 8: May 19-10:08 PM
	Page 9: May 19-10:08 PM
	Page 10: May 19-10:22 PM
	Page 11: Jan 9-9:27 AM
	Page 12: Jan 9-9:27 AM
	Page 13: May 21-1:12 PM
	Page 14: May 21-1:12 PM
	Page 15: May 21-1:12 PM
	Page 16: May 21-1:25 PM
	Page 17: May 19-9:50 PM
	Page 18
	Page 19: May 19-9:56 PM
	Page 20: May 21-1:35 PM

